T =0 MsdsII=2 A

3 A A

S - B C(BH) - HBAY - e ﬁiﬂzfa =
2 1,117,895 1,164,434 A46,539
2 MEHE SL(SL22/HR) 50,000 50,000 0

HEUEIIS(HMSHEIZ) 50,000 50,000

ME=dsEII= 50,000 50,000 0

307 212t01& 50,000 50,000 0

02 QIFAE X 10,000 10,000 0
OMEsRstds |4 10,000, 000& 10,000

03 ARIEHEXS 40,000 40,000 0
OAl M=3 2gdl X& 40,000,000& 40,000

ES(MsSXAH) (2L 22 /HK) 1,067,895 1,114,434 A46,539
HIAE(MSIEIZ) 1,067,895 1,114,434 A46,539
SEXE 1,067,895 1,114,434 A46,539
602 Ol XIS 1,067,895 1,114,434 N46,539

01 GIXl= 1,067,895 1,114,434 A46,539
OuXl= 1,067,895,000& 1,067,895




